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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :
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37674911477
37674944701
37674944702
37674944703
37674944704
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Comprehension:
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3.60
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911478
Option 1 ID : 37674944705
Option 2 ID : 37674944706
Option 3 ID : 37674944707
Option 4 ID : 37674944708

Status : Answered

Chosen Option : 1
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SubQuestion No : 3
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911479
Option 11D : 37674944709
Option 2 ID : 37674944710
Option 31D : 37674944711
Option 4 ID : 37674944712

Status : Answered

Chosen Option : 2
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Comprehension:
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SubQuestion No : 4
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2.80
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4. 100
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911480
Option 11D : 37674944713
Option 2 ID : 37674944714
Option 3 ID : 37674944715
Option 4 ID : 37674944716

Status : Answered

Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions:

The following table shows the number of students who appeared in Exam-1 of recruitment,
alongwith the percentage of students who appeared in Exam-2 of recruitment (after passing
Exam-1), number of females who appeared for Interview (after passing Exam-2). and the
ratio between the number of males to number of females who appeared in Exam-1 from five,
different cities A-E. Based on the data in the table, answer the questions that follow:

Citv-wise details of students appearing in a recruitment Exam

Number of
| students who
appeared in Exam-

Percentage (%) of students | Number of females who | Ratio of males to
who appeared in Exam-2 appeared for Interview females who
(After passing Exam-1) (After passing Exam-2) |appeared in Exam-1

A 7800 45% 351 6:7
B 10000 26% 460 1:4
C 80000 20% 300 5:3
D 90000 10% 560 T
E 6000 40% 275 23

Note: Percentage of students who appeared in Exam-2 is with respect to the number of
students who appeared in Exam-1 and the number of students who appeared for Interview is
with respect to the number of students who appeared in Exam-2.

SubQuestion No : 5

Qs Number of females who appeared in Exam-1 is more than 4000 in only cities.
1.2
2.3
3.4
4.5
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911481
Option 11D : 37674944717
Option 2 ID : 37674944718
Option 3 ID : 37674944719
Option 4 ID : 37674944720

Status : Answered

Chosen Option : 2
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Q.6

Options 1. 1
2.2
3.3
4.4

A. Pilot testing of the survey

B. Designing the questionnaire
C. Distributing the questionnaire
D. Analyzing the responses

1.A,B,Dand C Only
2. A, B, CandD Only
3.A,C,Band D Only

4.B. A, C and D Only

Arrange the stages of conducting a survey for research.

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911490
37674944753
37674944754
37674944755
37674944756
Answered

2



https://applink.adda247.com/d/XhqWf9lSap

Adda

2 q 7 GET IT ON
Google Play
Q.7 ; 5 o ;13 : 5 G 3
Under which constitutional provision, no one can be denied admission in any state run
educational institution on the basis of religion. caste and language?
1. Article 21
2. Article 15
3. Article 18
4. Article 30
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911518
Option 1 ID : 37674944865
Option 2 ID : 37674944866
Option 3 ID : 37674944867
Option 4 ID : 37674944868
Status : Answered
Chosen Option : 2
.8 i ; ;
% e SIYR ] 1 U1 W 1 Ud-F1H b ATTH U 34 & 91 "0 I 3gdl
¢ (vt o e ST, S fohd =T O ST 9 62
1. TRTS U e
2. JTCI&T
3. HIHY &1
4. IR
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911503
Option 1 ID : 37674944805
Option 2 ID : 37674944806
Option 3 ID : 37674944807
Option 4 ID : 37674944808
Status : Answered
Chosen Option : 1
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Q.9

Match the LIST-I with LIST-II

LIST-I
(Concept)

LIST-II
(Scholars)

To qualify as a case
study, it must be a
bounded system, an
entity in itself.

George A. Lundberg

Draws a parallel
between the social
research process which
is considered scientific
and the process that we
use in our daily lives.

II.

Herbert Blumer

Sociological research is
primarily committed to

.| svstematic, reliable,

knowledge of social
world.

I

Tom Burns

D.

Sort scale was
developed

IV.

William Stephenson

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV
2. A-II1L, B-1, C-1IV, D-II
3. A-L. B-II, C-1II, D-IV

4. A-IIL, B-1, C-11, D-IV

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911491
37674944757
37674944758
37674944759
37674944760
Answered

4
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K introduces N to his friend saying ‘He is the husband of the grand-daughter of the father of
my father’. How is N related to K?

1. Brother
2. Son-in-law
3. Nephew

4. Brother-in-law
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Q.10 : : s B
What is correct about Visamvyapti?
1. A particular proposition of which both subject and predicate are distributed
2. A universal propositon of which only the subject is distributed
3. Auniversal proposition of which both subject and predicate are distributed
4. A particular proposition of which only predicate is distributed
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911505
Option 11D : 37674944813
Option 2 ID : 37674944814
Option 3 ID : 37674944815
Option 4 ID : 37674944816
Status : Answered
Chosen Option : 1
Q.11

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
37674911497
37674944781
37674944782
37674944783
37674944784
Answered

4
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Q.12
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1. SfaHfEd
2. FT’l

3. Uledrg-
4. Juals]

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911483
Option 1 ID : 37674944725
Option 2 ID : 37674944726
Option 3 ID : 37674944727
Option 4 ID : 37674944728

Status : Answered

Chosen Option : 1
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Q.13

Options 1. 1
2.2
3.3
4.4

Which of the following are true about wind farms?

A. They are often installed in rows

B. They create noise pollution

C. They can be installed on land or offshore
D. They are non-renewable energy sources
E. They contribute electricity to power grid

Choose the correct answer from the options given below:

1. A, B, C and D Only
2. A, B, C and E Only
3. A.D and E Only

4. B, D and E Only

Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Question Type :
Question ID :

: 37674944857
: 37674944858
: 37674944859
: 37674944860
Status :

Chosen Option :

McQ
37674911516

Answered
2
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Q.14 ‘ _ o
Identify the correct sequence in the process of communication:

A. Message
B. Receiver
C. Source

D. Channel

Choose the correct answer from the options given below:
1.4, E
2.C,A,.D,B
3.C,A,B.D

4. A B, C.D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911494
Option 11D : 37674944769
Option 2 ID : 37674944770
Option 3 1D : 37674944771
Option 4 ID : 37674944772

Status : Answered

Chosen Option : 2
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Q.15 While delivering lectures for an advanced physics course through SWAYAM, which of the

following strategies could be helpful for self-discipline and regular attendance?

A Incorporate regular quizzes and peer assessments.

B. Shift entirely to face-to-face teaching methods

C. Introduce live sessions to encourage real-time interactions
D. Use gamified elements to keep students engaged

Choose the correct answer from the options given below:

1. B and C Only
2. Aand D Only
3. A.Band D Only

4. A, Cand D Only

Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

McQ

: 37674911486
: 37674944737
1 37674944738
1 37674944739
1 37674944740

Answered
4
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Q.16 Which of the following is not a weakness of Propaganda Theory?
A It identifies personal. social and cultural factors that can enhance media's power to have
effects.
B. It ignores personal, social and cultural factors that limit media effects.
C. It focuses attention on the use of campaigns to cultivate symbols.
D. It overestimates the speed and range of media effects.
Choose the eorrect answer from the options given below:
1. A and B Only
2. B and C Only
3. A and C Only
4. C and D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911495
Option 1 ID : 37674944773
Option 2 ID : 37674944774
Option 3 ID : 37674944775
Option 4 ID : 37674944776
Status : Answered
Chosen Option: 3
Q.17 The process of selecting small number of elements from a larger identified group of elements
iscalled .
1. Questionnaire
2. Scaling
3. Sampling
4. Primary
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911487
Option 1 ID : 37674944741
Option 2 ID : 37674944742
Option 3 ID : 37674944743
Option 4 ID : 37674944744
Status : Answered
Chosen Option: 3
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Q.18

The speed of an electric train is 25% more than that of a steam engine train. What is the time
taken by the electric train to cover a distance which the steam engine train takes 4 hours 25
minutes to cover?

131 br
10
o Bl g
15
3.3
12
PR
15
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status:
Chosen Option :

McQ

37674911501
37674944797
37674944798
37674944799

: 37674944800

Answered
4
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Q.19

Match the LIST-I with LIST-II

LIST-I LIST-II
A. Ghaks aqd I. |Jains
Brahmapuris
B.| Agraharas II. | Buddhists
C.|Basadis III. | Brahmins
D | Vikaras v Small re?liglous centres
of learning

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-IV, D-III
2. A-II, B-1, C-1II, D-IV
3. A-IV, B-1II, C-I, D-II

4. A-IV, B-1I, C-I. D-III

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911521
37674944877
37674944878
37674944879
37674944880
Answered

3
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Q.20 Which of the following about cloud computing is false?
1. Cloud computing is Internet - based computing where shared resources, software, and
information are provided to firms on demand.
2. Cloud computing can easily host enterprise system applications.
3. If the internet connection goes down, then the cloud system will not function.
4. Data stored in a cloud computing system is always secure.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911508
Option 11D : 37674944825
Option 2 ID : 37674944826
Option 3 ID : 37674944827
Option 4 ID : 37674944828
Status : Answered
Chosen Option : 3
Q.21 Mass communication is a
1. Communication. when a source. typically an organization, employs a technology as a
medium to communicate with a large audience
2. Communication between two or a few people, typically face-to-face
3. Communication between a few or many people that employs a technology as a medium
4. Communication with a group from within
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911492
Option 11D : 37674944761
Option 2 ID : 37674944762
Option 31D : 37674944763
Option 4 ID : 37674944764
Status : Answered
Chosen Option : 1
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Q.22

Match the LIST-I with LIST-II

LIST-I LIST-II
(Concept) (Example)
A.|Internet of content I. | Social Media
B.|Internet of People II. | Smartwatch
C.|Internet of Things II1. | Internet
D.|Network of Networks IV. Sempebing “Ta) Malal
on Google

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I. B-IV, C-11I, D-II
2. A-ILL B-1III, C-I, D-IV
3. A-IIL, B-II, C-IV, D-I

4. A-IV, B-1, C-11. D-III

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911511
37674944837
37674944838
37674944839
37674944840
Answered

4
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Q.23 Which of the following softwares / apps would a teacher use to create formative assessment

that provides immediate feedback to students during a live quizz session?

A Mindmeister
B. Kahoot
C. Miro
D. Quizizz
Choose the correct answer from the options given below:

1. B and D Only

2. A, Band C Only

3. Aand D Only
4. Cand D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911482
Option 1 ID : 37674944721
Option 2 ID : 37674944722
Option 3 ID : 37674944723
Option 4 ID : 37674944724
Status : Answered
Chosen Option : 1
Q.24 Two cylindrical jars have their diameters in the ratio 3 : 1 but heights in the ratio 1 : 3. Then
the ratio of their volumes is
1. 1:4
2.3
3311
4.1:1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911499
Option 11D : 37674944789
Option 2 ID : 37674944790
Option 3 1D : 37674944791
Option 4 ID : 37674944792
Status : Answered
Chosen Option : 3
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Q.25 . ; : G g
Arrange following Indian thinkers in historical chronology:
A. Chanakya - Kautilya
B. Sri Chaitanya
C. Aryabhatt
D. Kabir
E. Guru Nanak
Choose the most appropriate answer from the options given below:
1.A,B,CDE
2.B,AD,C.E
3.E,C,A,B,D
4.D,E,C,B, A
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911519
37674944869
37674944870
37674944871
37674944872
Answered

2
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Q.26

Pick the correctly matched pairs :

A. AICTE - Teacher Education

B. ICSSR - Social Science Research
C. NMC - Medical Education

D. NCTE - Technical Education

E. RCI - Special Education

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. B, C and D Only
2. A, C and E Only
3. Aand D Only

4. B, C and E Only

Option 1 ID
Option 2 ID

Option 4 ID
Status

Question Type :
Question ID :
: 37674944873
: 37674944874
Option 31D :
1 37674944876
: Answered
Chosen Option :

McQ
37674911520

37674944875

1
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Q.27

Match the LIST-T with LIST-II

LIST-I

LIST-II

A.|Decay

The interference occurs
when material is
difficult to retrieve
because of exposure to
later material.

B.|Memory trace

II.

The interference refers
to the difficulty in
retrieving material due
to the interference of
previous material

C.|Proactive

III.

A physical change in the
brain that occurs when
new material is learned.

D.|Retroactive

The loss of information
in memory through its
non-use

Choose the correct answer from the options given below:

1

-

Options 1. 1

2.2
3.3
4.4

. A-IIL B-IV, C-III. D-1

2. A-IV, B-III, C-II. D-I

. A-IIL B-1I, C-IV, D-1

. A-I B-III, C-II, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911484
37674944729
37674944730
37674944731
37674944732
Answered

2
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Q'28 v . < N
Nai-Talim can be associated with:
1. Allama Igbal
2. Mahatma Gandhi
3. Maulana Abul Kalam Azad
4. Sir Syed Ahmed Khan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911517
Option 1 ID : 37674944861
Option 2 ID : 37674944862
Option 31D : 37674944863
Option 4 ID : 37674944864
Status : Answered
Chosen Option : 2
Q.29 : ;
Which of the following statements A-D about Read Only Memory (ROM) are true?
A. The data stored in ROM is temporary.
B. It is also known as firmware.
C. The contents don't change even if it is read many times.
D. EPROM is a type of ROM that can be erased by exposing it to ultraviolet rays.
Choose the correct answer from the options given below:
1. B, C and D Only
2. A and C Only
3.Band D Oanly
4. A.B,CandD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911510
Option 11D : 37674944833
Option 2 ID : 37674944834
Option 3 ID : 37674944835
Option 4 ID : 37674944836
Status : Answered
Chosen Option: 1



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

Q.30

Match the LIST-I with LIST-II

LIST-I LIST-II
(Film City) (Location)
A.|Innovative Film City I. |Hyderabad
B.|Ramoji Film City II. | Bengaluru
C.|Prayag Film City II1. | Kolkata
D.|MGR Film City IV. | Chennai

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IL, B-1, C-1IV, D-III
2. A-II, B-1, C-III, D-IV
3. A-I. B-1I. C-III, D-IV

4. A-1, B-II, C-1IV, D-III

Question Type :
Question ID :

: 37674944777
Option 2 ID :
Option 31D :
Option 41D :
Status:

Chosen Option :

Option 1 ID

McQ
37674911496

37674944778
37674944779
37674944780
Answered

3
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Pick up the correct answer in the context of logic and language:

A. Emotionally colored language is appropriate for logical expressions.
B. A dispute is a disagreement in belief about fact.

C. A question is a form of assertion.

D. "In as much as" is a premise indicator.

E. A sentence is a desirable component of logical argument.

Choose the correct answer from the options given below:

1. B and D Only
2. C and E Only
3. Aand E Only

4. C and D Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911502
Option 1 1D : 37674944801
Option 2 ID : 37674944802
Option 31D : 37674944803
Option 4 ID : 37674944804

Status : Answered

Chosen Option : 3
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Q.32 Arrange the following list of events A-D in the history of computers in chronological order
(that is, from the earliest event to latest event).
A. Transistor technology invented
B. Analytical engine developed
C. Altair released
D. Macintosh released
Choose the eorrect answer from the options given below:
LA DB C
2.B.A,C,D
3.C,B; DA
4.D,C,A.B
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911509

1 37674944829

37674944830
37674944831
37674944832
Answered

2
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Q.33

Which of the following are referencing styles ?

A. MLA Style

B. Roman Style
C. Chicago Style
D. APA Style

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A, B and C Only
2. B, C and D Only
3. Aand B Only

4. A, Cand D Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
37674911489
37674944749
37674944750
37674944751
37674944752
Answered

4
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Q.34 : ; 5o : g
Indian Institute of Mass Communication was established in the vear
1. 1964
2. 1965
3. 1967
4. 1970
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911493
Option 1 ID : 37674944765
Option 2 ID : 37674944766
Option 3 ID : 37674944767
Option 4 ID : 37674944768
Status : Answered
Chosen Option : 1
Q.3

Which of the following are components of BTEX, an air pollutant:

A. Benzene

B. Bisphenol

C. Ethylbenzene
D. Ethylene

Choose the correct answer from the options given below:

1. Aand B Only
2. B and C Only
3. Aand C Only

4. B and D Only

2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911515
Option 11D : 37674944853
Option 2 ID : 37674944854
Option 3 ID : 37674944855
Option 4 ID : 37674944856
Status : Answered
Chosen Option : 2
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Q.36
To test AEE - Ivth figure, what among the following can be correctly claimed ?

1. Region of SPM is shaded out to express first premise
2. Region of SPM is shaded out to express first premise
3. Region of SPM and SPM are shaded out to express first premises

4. SPM and SPM are shaded out to express first premises

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911506
Option 11D : 37674944817
Option 2 ID : 37674944818
Option 3 ID : 37674944819
Option 4 ID : 37674944820

Status : Answered

Chosen Option : 4
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Q.37

Match the LIST-I with LIST-II

{HazardousL :18:’1:;1& producing (HazaLrtlii'E;]:fw'aste)
Industry)
A.|Electrical Insulation I. | Toxic Metals
B.|Fertilizers II. [ Dyes
C.|Leather I11. g?;iiiﬁz?;tggs}
D.| Textile IV. | Nitric Acid

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-IV, C-III. D-I
2. A-I, B-1II, C-1IV, D-II
3. A-IIL B-1IV, C-1, D-II

4. A-IIL B-1V, C-II, D-I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911513
37674944845
37674944846
37674944847
37674944848
Answered

3
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938 ar o ag erav Ruf Fored oafet = i fied dgd € 3R AT B auRa

&. g o:
1. UgdaH fada
2. UgdH faeRur
3. UM 3udfed
4. UgaH A=A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911485
Option 1 ID : 37674944733
Option 2 ID : 37674944734
Option 3 ID : 37674944735
Option 4 ID : 37674944736
Status : Answered
Chosen Option : 1
Q.39 ; ,
fafafad § ¥ 54 Al UeR & mrem § 1t & ardraRor § ardf el & 91 &
yRafdd fear s usar g2
A. T TR Ug=H a1d IR faferor § ufiada
B. WRdfdd UR fafewor & ufRada
C. T 3fal A1-=H1 ulgedradi & gfed g4 & &R
D. 3fdf¥e # ay fafeRd feu oF arel erarad fafe=or | uRad=
fr feu e faeeal § O Tgt 3oR &1 99 SIS
|.Had A, B3R C
2. Had B, C 3R D
3. Hdd A, C 3IRD
4. Hdd A, B2ARD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911512
Option 1 ID : 37674944841
Option 2 ID : 37674944842
Option 3 ID : 37674944843
Option 4 ID : 37674944844
Status : Answered
Chosen Option : 4
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Q.40 . 1 1 .
Six numbers a, b, ¢, d, e, f are such that ab=1, bc:E, cd=6, de=2 and ef:E. What is the value
of (ad:be:cf)?
1. 4:3:27
2.16:459
3.8:9:9
4: 72119
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911500
Option 1 ID : 37674944793
Option 2 ID : 37674944794
Option 3 ID : 37674944795
Option 4 ID : 37674944796
Status : Answered
Chosen Option : 3
Q.41
Type-1 error
1. Rejects null hypothesis when it is true
2. Accepts null hypothesis when it is true
3. Accepts alternate hypothesis when it is false
4. Accepts null hypothesis when it is false
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911488
Option 1 ID : 37674944745
Option 2 ID : 37674944746
Option 3 ID : 37674944747
Option 4 ID : 37674944748
Status : Answered
Chosen Option : 1
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Q.42 Consider the following MS-EXCEL function entered in cell C1:

=IF(A1=Bl1, 1, IF (Al=10, 2, TF(A1<B1, 3, 4)))
respectively.

1. 11 and 10

=]

.9and 10
3.11and 11

4.10 and 10
Options 1. 1
2.2
3.3
4.4

The above function will return a value of 4 in cell C1 if the values in cell Al and cell B1 are

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D
Option 4 ID

Status:

Chosen Option :

McQ

37674911507
37674944821
37674944822

1 37674944823
1 37674944824

Answered
2
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Q.43 .
Match the LIST-TI with LIST-II
LIST-I LIST-II
Median of 4, 4, 5, 7, 6,
A 5 12,3 e
B. Mean of 7, 5, 9, 8, 15, 3, |7
8,9
9 9
C. gut[ode of2,3,7,1,3,2, mle
Value of x, if mean of x,
D.|x+2, x+4, x+ 6, x+81s |IV.|8
11
Choose the correct answer from the options given below:
1. A-ITI, B-11, C-1IV, D-1
2. A-III, B-1V, C-I, D-II
3. A-IlL, B-1V, C-1, D-III
4. A-II, B-1I1, C-1, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911498
Option 11D : 37674944785
Option 2 ID : 37674944786
Option 3 ID : 37674944787
Option 4 ID : 37674944788
Status : Answered
Chosen Option : 2
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Q.44 Which of the following are true about Convention on Biological Diversity (CBD)?

A. Tt works for the conservation of Biodiversity

B. It advocates the sustainable use of its components

C. Tts secretariat is in Geneva, Switzerland

D. It emphasizes on fair and equitable sharing of benefits arising out of the utilization of
genetic resources

Choose the correct answer from the options given below:

1. A, B and C Only
2.B,C and D Only
3. A, C and D Ounly

4. A.B and D Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911514
Option 1 ID : 37674944849
Option 2 ID : 37674944850
Option 3 ID : 37674944851
Option 4 ID : 37674944852
Status : Answered
Chosen Option : 1
Q.45 : 2 ; I :
When a shift of meaning arises within an argument as a consequence of changes in the
emphasis given to its words or parts is said to be the fallacy of
1. Amphiboly
2. Accident
3. Accent
4. Division
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911504
Option 11D : 37674944809
Option 2 ID : 37674944810
Option 3 ID : 37674944811
Option 4 ID : 37674944812
Status : Answered
Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions that follow:

Character is one of the most valued qualities in a person shaping how they interact with
others and handle life’s challenges. A person’s character is defined by qualities such as
honesty, integrity. responsibility and empathy. These traits nurture trust and respect in
relationships, as people are more likely to rely on those who demonstrate strong character. In
professional settings, character is often more valued than technical skills as it forms the
foundation of ethical behavior and reliability. For example, a person with good character is
likely to stay committed to their responsibilities, take ownership of their actions and work
well in teams. In addition to that character influences one’s ability to make sound decisions
especially under pressure and maintain resilience through difficult times. In society, strong
character promotes harmony and mutual respect, as people treat each other with kindness
and fairness. It may be argued that character is crucial not only for individual success but
also for building a trustworthy and positive community.

SubQuestion No : 46

MCQ
37674911524
37674944885
37674944886
37674944887
37674944888
Answered

Q.46 : , , :
Why is character often valued in professional settings?
1. It shows a person's technical skills.
2. It makes tasks easier to accomplish.
3. It builds the foundation for ethical behaviour and reliability.
4. It reduces the need for team work.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option: 3
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Comprehension:

Read the following passage and answer the questions that follow:

Character is one of the most valued qualities in a person shaping how they interact with
others and handle life’s challenges. A person’s character is defined by qualities such as
honesty, integrity. responsibility and empathy. These traits nurture trust and respect in
relationships, as people are more likely to rely on those who demonstrate strong character. In
professional settings, character is often more valued than technical skills as it forms the
foundation of ethical behavior and reliability. For example, a person with good character is
likely to stay committed to their responsibilities, take ownership of their actions and work
well in teams. In addition to that character influences one’s ability to make sound decisions
especially under pressure and maintain resilience through difficult times. In society, strong
character promotes harmony and mutual respect, as people treat each other with kindness
and fairness. It may be argued that character is crucial not only for individual success but
also for building a trustworthy and positive community.

SubQuestion No : 47

Q.47
How does strong character contribute to society?
1. It promotes comptetion over cooperation.
2. It creates harmony and mutual respect.
3. It encourages people to work tirelessly.
4. It reduces the need for trust in relationships.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status
Chosen Option :

McQ
37674911526

: 37674944893
: 37674944894
: 37674944895
: 37674944896
: Answered

2
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Comprehension:

Read the following passage and answer the questions that follow:

Character is one of the most valued qualities in a person shaping how they interact with
others and handle life’s challenges. A person’s character is defined by qualities such as
honesty, integrity. responsibility and empathy. These traits nurture trust and respect in
relationships, as people are more likely to rely on those who demonstrate strong character. In
professional settings, character is often more valued than technical skills as it forms the
foundation of ethical behavior and reliability. For example, a person with good character is
likely to stay committed to their responsibilities, take ownership of their actions and work
well in teams. In addition to that character influences one’s ability to make sound decisions
especially under pressure and maintain resilience through difficult times. In society, strong
character promotes harmony and mutual respect, as people treat each other with kindness
and fairness. It may be argued that character is crucial not only for individual success but
also for building a trustworthy and positive community.

SubQuestion No : 48

Q.48
What is one trait associated with strong character?
1. Evasiveness in decisions
2. Flexibility
3. Lack of Empathy
4. Responsibility
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

McQ
37674911523

1 37674944881
1 37674944882
1 37674944883
1 37674944884

Answered
4
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Comprehension:

Read the following passage and answer the questions that follow:

Character is one of the most valued qualities in a person shaping how they interact with
others and handle life’s challenges. A person’s character is defined by qualities such as
honesty, integrity. responsibility and empathy. These traits nurture trust and respect in
relationships, as people are more likely to rely on those who demonstrate strong character. In
professional settings, character is often more valued than technical skills as it forms the
foundation of ethical behavior and reliability. For example, a person with good character is
likely to stay committed to their responsibilities, take ownership of their actions and work
well in teams. In addition to that character influences one’s ability to make sound decisions
especially under pressure and maintain resilience through difficult times. In society, strong
character promotes harmony and mutual respect, as people treat each other with kindness
and fairness. It may be argued that character is crucial not only for individual success but
also for building a trustworthy and positive community.

SubQuestion No : 49

Q.49 What does a person with a strong character likely to do when faced with responsibilities?
1. Ignores them to focus on personal goals.
2. Delegates work to others.
3. Completes all the tasks.
4. Stays committed and takes ownership of actions.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911527
37674944897
37674944898
37674944899
37674944900
Answered

4
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Comprehension:

Read the following passage and answer the questions that follow:

Character is one of the most valued qualities in a person shaping how they interact with
others and handle life’s challenges. A person’s character is defined by qualities such as
honesty, integrity. responsibility and empathy. These traits nurture trust and respect in
relationships, as people are more likely to rely on those who demonstrate strong character. In
professional settings, character is often more valued than technical skills as it forms the
foundation of ethical behavior and reliability. For example, a person with good character is
likely to stay committed to their responsibilities, take ownership of their actions and work
well in teams. In addition to that character influences one’s ability to make sound decisions
especially under pressure and maintain resilience through difficult times. In society, strong
character promotes harmony and mutual respect, as people treat each other with kindness
and fairness. It may be argued that character is crucial not only for individual success but
also for building a trustworthy and positive community.

SubQuestion No : 50
Q'so [l . " -
How does character impact decision making?

1. It increases focus on short-term gains.
2. It makes people indecisive.
3. It helps in making sound decisions under pressure.

4. It encourages people to avoid taking risks.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911525
Option 11D : 37674944889
Option 2 ID : 37674944890
Option 3 ID : 37674944891
Option 4 ID : 37674944892

Status : Answered

Chosen Option : 3
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Q.51

Arrange the sociological studies on caste in India in chronological order:

A. Caste in contemporary India

B. Caste and class in India

C. Caste in modern India and other essays
D. Homo Hierarchieus

E. Caste, class and power

Choose the correct answer from the options given below:

1.A,B,C,D,E
2.B,E,D,C,A
3.E,D.B,A,C

4.C,A.D.B.E

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911569
37674945065
37674945066
37674945067
37674945068
Answered

2
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Q.52

Group the factors influencing educational attainment:

A. Food habits
B. Social class

C. Height of the individual
D. The quality of schools

E. Gender

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1.B., D, E only
2. AE, C only
3.C,A.Eonly

4. B, D, C only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911593
37674945161
37674945162
37674945163
37674945164
Answered

1
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Q.53

ideological on the basis of his study?

1. P.N. Mukherji
2. Ghanshyam Shah
3. D. N. Dhanagare

4. T. K. Oommen
Options 1. 1
2.2
3.3
4.4

Who has given three-fold classification of social movement-charishmatic, organisational and

Question Type :
Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

MCQ
37674911564
37674945045
37674945046
37674945047
37674945048
Answered

4
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Q.54

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Dalit Movement I. | Birsa Munda
B Backward Class i1l B Pant
Movement
C.| Tribal Movement III. | Sharmila Rege
D.| Women's Movement IV. | Jyotiba Phule

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-1I, C-III, D-I

2. A-IIL B-1IV, C-1I. D-I

3. A-IV. B-1I, C-1, D-IIT

4. A-L,

B-1I, C-IV, D-III

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911609
37674945225
37674945226
37674945227
37674945228
Answered

3
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1.$dd B, C, D, E
2. %ad A, C.D.E
3. Had A, B, C,E
4.®4dd A, B.C.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911596
Option 11D : 37674945173
Option 2 ID : 37674945174
Option 3 ID : 37674945175
Option 4 ID : 37674945176
Status : Answered
Chosen Option: 3
Q.56 Imagined communities refers to-
1. A socially constructed community one which is imagined by the people who perceived
themselves as part of that group
2. A category of people who share biologically transmitted traits that members of society
deem socially significant
3. A group of people who share common class position in society
4. A group of people sharing common social status in society
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911566
Option 1 ID : 37674945053
Option 2 ID : 37674945054
Option 3 ID : 37674945055
Option 4 ID : 37674945056
Status : Answered
Chosen Option : 1
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Q.57

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I

LIST-II

A.|Null Hypothesis

Hypothesis that aims to
predict the direction of
the relationship between
two variables

B.| Alternate Hypothesis

II.

Statement in which there
is no relationship
between the two
variables

C.|Directional Hypothesis

III.

Hypothesis that predicts
a relationship between
the two variables.
However the nature or
direction of relationship
1s not defined

Non-Directional
Hypothesis

Statement in which there
15 some statistical
relationship between the
variables

1. A-I, B-1I, C-1IV, D-III
2. A-IV, B-1II, C-I, D-IT
3. A-IL, B-IV, C-1, D-IIT

4. A-1I1, B-1, C-1IV, D-II

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

37674911611
37674945233
37674945234
37674945235
37674945236
Answered
Chosen Option: 3
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Q.58 Who is not associated towards the development of a body of explanatory concept relating to
acculturation?
1. R Linton
2. R. Redfield
3. M. J. Herskovits
4. B. Mallinowski
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911549
Option 11D : 37674944985
Option 2 ID : 37674944986
Option 3 ID : 37674944987
Option 4 ID : 37674944988
Status : Answered
Chosen Option : 2
Q.59 5 : ; : i g .
According to Marxist Perspective the major function of education is.
1. Reproduction of labour power
2. Develop full potential of an individual
3. Bring cohesion and integration in society
4. Eliminate inequality in society
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911529
Option 1 ID : 37674944905
Option 2 ID : 37674944906
Option 3 ID : 37674944907
Option 4 ID : 37674944908
Status : Answered
Chosen Option : 1
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.60 ; ; : : .
e Which one of the the following will be categorized as an achieved status?

L. Sex
2. Age
3. Caste

4. Marital Status

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911567
Option 11D : 37674945057
Option 2 ID : 37674945058
Option 3 ID : 37674945059
Option 4 ID : 37674945060
Status : Answered
Chosen Option : 4
Q.61 @ s ; :
Max Weber sees objectivity through which one of the following?
1. Ethnocentrism
2. Rationalization
3. Universalism
4. Regionalisation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911545
Option 1 ID : 37674944969
Option 2 ID : 37674944970
Option 3 ID : 37674944971
Option 4 ID : 37674944972
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.62 Who argues that modernity is an ‘incomplete project’. Instead of consigning it to the dustbin

of history . we should be extending it. pushing for more democracy, more freedom and more
rational policies?

1. Edward Said

2. Jurgen Habermas

3. Manual Castells

4. Anthony Giddens

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911550
Option 11D : 37674944989
Option 2 ID : 37674944990
Option 3 ID : 37674944991
Option 4 ID : 37674944992
Status : Answered
Chosen Option : 2
Q.63 : ; ; : : .
Which of the following research designs are used in social science research?
A. Ramdomized two group design
B. Four group design
C. Quasi experimental design
D. Time series design
E. Lateral design
Choose the eorrect answer from the options given below:
1. A.B,C.Donly
2.A.C,D,E only
3.C.A.E.Bonly
4. A.B.D.E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911597
Option 11D : 37674945177
Option 2 ID : 37674945178
Option 3 ID : 37674945179
Option 4 ID : 37674945180
Status : Answered
Chosen Option : 4
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Question Type
Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status
Chosen Option

: MCQ

: 37674911600
: 37674945189
: 37674945190
1 37674945191
: 37674945192
: Answered
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Q.65 : . :
According to Max Weber, ideal types can be characterised as.

A. Heuristic devices
B. Devices helpful in doing empirical research

C. Devices helpful in understanding specific aspect of the social world
D. An analytical construct

E. Are the products of the whims and fancies of a social scientist
Choose the correct answer from the options given below:

1.B.A.E.Donly
2.E,B,D, Conly
3.B.A.D.E only

4.D.B,A. Conly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911589
Option 11D : 37674945145
Option 2 ID : 37674945146
Option 3 ID : 37674945147
Option 4 ID : 37674945148

Status : Answered
Chosen Option : 4
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Q.66 : : : . .
Arrange the following tribal revolts in India in chronological order.
A. Birsa Munda revolt
B. Santhal revolt
C. Munda revolt
D. Baba Tilka Majhi revolt
E. Tana Bhagat revolt
Choose the correct answer from the options given below:
1.B,E.D,C,A
2. 58.C.B.D.E
3. BACE
4.E,A.C,B,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911570
Option 1 ID : 37674945069
Option 2 ID : 37674945070
Option 3 ID : 37674945071
Option 4 ID : 37674945072
Status : Answered
Chosen Option : 2
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Q.67

Arrange following Indian Laws in chronological order.

A. Oriental Gas Company Act
B. Indian Petroleum Act

C. The Atomic Energy Act

D. The Motar Vehicle Act

E. The Factories Act

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1.ABED. C
2.8,B,B.EC
3. A;B. D, C E

4.B. A, D,C. E

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

Question Type :
: 37674911582
: 37674945117
: 37674945118
Option 31D :
: 37674945120

Status :
Chosen Option :

McQ

37674945119

Answered
1
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Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 1D :

Option 31D :

Option 41D :

Status:

Chosen Option :

McQ
37674911576
37674945093
37674945094
37674945095
37674945096
Answered

2
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Q.69 . ] _
Who used the metaphor of the theatre in sociological theory?
1. Harold Garfinkel
2. Erving Goffman
3. Alfred Schutz
4. Peter Berger
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911553
Option 1 ID : 37674945001
Option 2 ID : 37674945002
Option 3 ID : 37674945003
Option 4 ID : 37674945004
Status : Answered
Chosen Option : 2
Q.70 Man and the region are not separate but inter-dependent entities, plastic, fluent growing
emphasized by whom?
1. Radha Kamal Mukerjee
2. D. P. Mukerji
3. A K. Saran
4. D. N. Majumdar
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911539
Option 1 ID : 37674944945
Option 2 ID : 37674944946
Option 3 ID : 37674944947
Option 4 ID : 37674944948
Status : Answered
Chosen Option : 1
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Q.71
day world on the basis of
A. Social reflexivity
B. Emphasis on customary laws
C. Post modern condition

D. Death of meta narratives
E. Runway world

1. D and E only
2. C and A only
3. Aand E only

4. Aand D only

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Anthony Giddens developed theoretical perspective on the changes occurring in the present

Question Type :

Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status:

Chosen Option :

McQ
37674911590
37674945149

: 37674945150
1 37674945151
1 37674945152

Answered
3
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Q.72

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Konyak Naga I. | Kichuki
B.| Angami Naga II. [Ban
C.|Oraon I11. | Ghotul
D.| Gond IV. | Dhumkuria

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-1, C-1V, D-III
2. A-I. B-II. C-III, D-IV
3. A-IV, B-III, C-II. D-I

4. A-III, B-1V, C-1, D-1I

Question Type :
: 37674911613
: 37674945241
: 37674945242
Option 31D :

Question ID
Option 11D
Option 2 ID

Option 4 ID
Status

1 37674945244
: Answered
Chosen Option :

McQ

37674945243

2



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON

Google Play

Q.73

Which among the following is not a component of culture?

Options 1. 1

2.2
3.3
4.4

1. Symbols
2. Language
3. Value and belief

4. Cultural conflict

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911543
37674944961
37674944962
37674944963
37674944964
Answered

4
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Q.74

Options 1. 1
2.2
3.3
4.4

Match the LIST-T with LIST-II

LIST-1 LIST-II
A man who becomes a
A | Transsexual Man L
wolmnen
A women who regularly
B.| Transsexual Women 1I. i Y
dresses as a man
. . A man who resularly
C.| Transvestite Women II1. BHIACY
dresses as a women
. A women becomes a
D.| Transvestite Man V.

man

1. A-IIL, B-II, C-IV. D-I
2. A-II, B-1II, C-I, D-IV
3. A-IV, B-1, C-I1, D-III

4. A-I, B-II, C-IV, D-III

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

37674911606
37674945213
37674945214
37674945215
37674945216
Answered
Chosen Option : 1
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Q.75 Methodology-Orientation-Postfactum-Generalization sequencing was given by whom?

1. Robert Merton
2. Talcott Parsons
3. Max Weber

4. George. C. Homans

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911546
Option 1 ID : 37674944973
Option 2 ID : 37674944974
Option 3 ID : 37674944975
Option 4 ID : 37674944976
Status : Answered
Chosen Option : 4
Q.76 ’ . ; < v 5 ;
Who differentiated city as ‘Parasite’ (dampens effect on economic growth) and
generative(acts as a center of change and stimulates economic growth?
1. Park & Burgess
2. A. G. Frank
3. Hoselitz
4. R. K. Mukerjee
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911565
Option 1 ID : 37674945049
Option 2 ID : 37674945050
Option 3 1D : 37674945051
Option 4 ID : 37674945052
Status : Answered
Chosen Option : 1
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Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911537
37674944937
37674944938
37674944939
37674944940
Answered

3
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Q.78

Arrange the following enactments of social legislations in chronological order.

A. Domestic Violence Act
B. Hindu Marriage Act

C. Right to Property Act
D. Special Marriage Act
E. Hindu Succession Act

Choose the correct answer from the options given below:

110, B, B, ICoA
2.D.E.C,A, B
3.B,C,A,D,E
4B E.CAD
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

McQ

: 37674911568
: 37674945061
: 37674945062

37674945063

: 37674945064

Answered
4
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Q.79

Options 1. 1
2.2
3.3
4.4

Group the traits as explained by Saskia Sassen in the *global city’.

A. They have developed into command posts for the global economy

B. They are key locations for financial and specialized service firms

C. They are sites of production and innovation

D. They are markets in which the products of financial and service industries
E. They are relatively large forms of human settlement

Choose the correct answer from the options given below:

1. A . B.D. Conly
2.A.B,C.D, only
3.A.C,D.E only

4. A, C,B.E only

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Question Type :
: 37674911587
: 37674945137
: 37674945138
: 37674945139
: 37674945140
: Answered

Chosen Option :

McQ

1
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Q.80 .
Match the LIST-I with LIST-II
LIST-I LIST-II
Refers to the degree to
A.|Power I. | which individuals or
groups can impose
B.|Prestige II. Secnal BIovp ranl{ﬁlzd i
" terms of ritual purity
c | wealtn 1L Related to the amount of
esteem or honour
D | Caste v Refers to material
possesions
Choose the correct answer from the options given below:
1. A-I, B-II, C-IV, D-III
2. A-II, B-1IL C-IV, D-1
3. A-I. B-III, C-IV, D-II
4. A-TV, B-111, C-II, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911603
Option 11D : 37674945201
Option 2 ID : 37674945202
Option 3 ID : 37674945203
Option 4 ID : 37674945204
Status : Answered
Chosen Option: 3
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Q.81

Match the LIST-T with LIST-II

LIST-I Authors LIST-II Books

The Elementary Forms

A.|Karl Marx I' of Religious Life

B Max Weber o 8 ourse de Philosophie
Positive

. . . The Protestant Ethics

e 1. and Spirit of Capitalism
The Economic and

D.| Auguste Comte IV.| Political Manuscript of

1844

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-IV, C-1I1I, D-IT
2. A-IV. B-1II, C-1, D-II
3. A-IIL B-1, C-II, D-IV

4. A-IL. B-1, C-1V, D-III

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911612
37674945237
37674945238
37674945239
37674945240
Answered

2
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Q.82

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Disability studies I. |G. S. Ghurye
B.|Subalterm studies II. | Anita Ghai
C.|Kinship studies II1. | Partha Chatterjee
D.|Caste studies IV.|A. C. Mayer

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-1II, C-I. D-II
2. A-ILL B-III, C-IV. D-I
3. A-IIL B-II, C-IV. D-I

4. A-L, B-1I, C-1II, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911605
37674945209
37674945210
37674945211
37674945212
Answered

2
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.83 : ; : : N
Q Who rejected the idea that sociologists should study individual Psychology?

1. Talcott Parsons
2. Max Weber
3. Emile Durkheim

4. Vilfredo Pareto

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911554
Option 1 ID : 37674945005
Option 2 ID : 37674945006
Option 3 ID : 37674945007
Option 4 ID : 37674945008
Status : Answered
Chosen Option: 3
Q.84 : : : B 0 ;
According to Yogendra Singh which of the following is not a function of Law?
1. As an indicator of change
2. As an initiator of change
3. As an integrator of change
4. As an opponent of change
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911534
Option 1 ID : 37674944925
Option 2 ID : 37674944926
Option 3 ID : 37674944927
Option 4 ID : 37674944928
Status : Answered
Chosen Option : 4
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Q.85

Cyber crime are considered as offences under the following act:

A 66A
B. 66 B
C.66C
D.66 D
E.66 E

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A,B.C,D only
2. B,C,D, E only
3. C,D,E, Aonly

4. A, B, E,Donly

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911594
37674945165
37674945166
37674945167
37674945168
Answered

2
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Q.86 The concept central to the new economic sociology according to Anthony Giddens, that

enables sociologist to reformulate economic issues in sociological term is:

1. Family Capitalism
2. Social Embeddedness
3. Managerial Capitalism

4. Weltare Capitalism

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911556
Option 1 ID : 37674945013
Option 2 ID : 37674945014
Option 3 1D : 37674945015
Option 4 ID : 37674945016
Status : Answered
Chosen Option : 2
Q.87 ;
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911530
Option 1 ID : 37674944909
Option 2 ID : 37674944910
Option 3 ID : 37674944911
Option 4 ID : 37674944912
Status : Answered
Chosen Option: 3
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Q.88 The shift beyond nation-state-based thinking towards analysing the human world as a single
community is known as:
1. Cosmopolitanism
2. Urbanism
3. Liberalism
4. Neo-Liberalism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911552
Option 11D : 37674944997
Option 2 ID : 37674944998
Option 3 ID : 37674944999
Option 4 ID : 37674945000
Status : Answered
Chosen Option : 1
Q.89 ‘Who argues that the migrants are the representatives of rural cosmopolitanism on the basis of
their studies?
1. B. S. Baviskar and others
2. 8. S. Jodhka and others
3. R. Bhagat and others
4. Jan Breman and others
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911563
Option 1 ID : 37674945041
Option 2 ID : 37674945042
Option 3 ID : 37674945043
Option 4 ID : 37674945044
Status : Answered
Chosen Option : 3
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Q.90 F 3 2
Who suggested that an interpretation that breaks with common sense?
1. Talcott Parsons
2. Emile Durkheim
3. Robert K. Merton
4. Max Weber
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911542
Option 1 ID : 37674944957
Option 2 ID : 37674944958
Option 3 ID : 37674944959
Option 4 ID : 37674944960
Status : Answered
Chosen Option : 4
Q.1 Which theory suggests that the structure and action are necessarily related to each other and
are not opposites.
1. Structuralism
2. Structural-functionalism
3. Structuration
4. Post Structralism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911540
Option 1 ID : 37674944949
Option 2 ID : 37674944950
Option 3 ID : 37674944951
Option 4 ID : 37674944952
Status : Answered
Chosen Option : 2
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Q.92 Which of the following is not an impact of 19th century socio-religious reform movements?
1. The creation of national awakening among the masses
2. The revival of Hinduism as a tolerant, and rational religion
3. An attack on the hereditary character and rigidity of the caste system
4. Improvement of the social status of elderly people
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911531
Option 1 ID : 37674944913
Option 2 ID : 37674944914
Option 3 ID : 37674944915
Option 4 ID : 37674944916
Status : Answered
Chosen Option : 2
Q.93 Who has propounded the term “neo-tribes” in the context of small grouping of people who
voluntarily band together on the basis of shared musical tastes, ideas, consumer preferences
and so on?
1. Martineu
2. Marcuse
3. Marshall
4. Maftesoli
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911562
Option 1 ID : 37674945037
Option 2 ID : 37674945038
Option 3 ID : 37674945039
Option 4 ID : 37674945040
Status : Answered
Chosen Option : 2
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Q.94

Who among the following did the famous study an Nuer society?

Options 1. 1

2.2
3.3
4.4

1. Robin Fox
2. Evans-Pritchard
3. G. P. Murdock

4. Lucy Mair

Option 4 ID
Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

McQ

37674911536
37674944933
37674944934
37674944935

1 37674944936
: Answered
Chosen Option :

2
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Q.95 : g E ; 5 {
What are the difficulties in formation of Hypothesis in social research?
A. Absence of a clear theoretical framework
B. Absence of an ability to utilize theoretical framework
C. Failure to be familiarity with available research techniques
D. Biasness in formulation of topic
E. Gender bias in selection of samples
Choose the correct answer from the options given below:
1.B,C.Donly
2. A, C, D only
3.A.B.Conly
4.C,.D, E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911578
Option 1 ID : 37674945101
Option 2 ID : 37674945102
Option 3 ID : 37674945103
Option 4 1D : 37674945104
Status : Answered
Chosen Option : 2
Q.96 Human sexuality freed from the needs of reproduction and moulded by individual choices is
called:
1. Sexuality
2. Plasticsexuality
3. Heterosexuality
4. Homosexuality
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911551
Option 11D : 37674944993
Option 2 ID : 37674944994
Option 3 ID : 37674944995
Option 4 ID : 37674944996
Status : Answered
Chosen Option : 2
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1. Vifd® R sniifa®s sRS

2. ArEifed 3R 4 FRUs HRb

3. fyara fasndi (sifdfoRf®) sk favs Sl @eisRies) sras

4. AUIEF 3R YSiTH BRS

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911557
Option 11D : 37674945017
Option 2 ID : 37674945018
Option 31D : 37674945019
Option 4 ID : 37674945020
Status : Answered
Chosen Option : 1
Q.98 The divisions of caste, class, gender and ethnicity combine to produce complex forms of
social inequality. The statement is closest to the idea of whom?
1. R. W. Connell
2. K. W. Crenshaw
3. Mannvel Castells
4. Michel Foucault
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911533
Option 1 ID : 37674944921
Option 2 ID : 37674944922
Option 3 ID : 37674944923
Option 4 ID : 37674944924
Status : Answered
Chosen Option : 1
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Q.99 : ; 2 o ; ;
The theoretical and philosophical insights provided by Ambedkar includes-
A. Hindu social order with the place of individual
B. Annbhiliation of caste
C. Encouraging the practice of inter caste marriages
D. Accepting the practice of priesthood by a single caste
E. Accepting the legitimacy of sacred text of the Hindus
Choose the correct answer from the options given below:
1.B. D, E only
2.B,C,Aonly
3.B,C.Donly
4. B. A, E only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911585
37674945129
37674945130
37674945131
37674945132
Answered

4
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Q.100 ] o
Who is the author of the book “Culture and Imperialism™?
1. Gayatri Spivak
2. Edward Said
3. Patricia Hill Collins
4. Judith Butler
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911560
Option 1 ID : 37674945029
Option 2 ID : 37674945030
Option 3 ID : 37674945031
Option 4 ID : 37674945032
Status : Answered
Chosen Option: 2
Q101 ‘The use of communicative power as well as material class struggles as being central to the
overthrow of capitalism’. Who associates with this statement?
1. Karl Marx
2. A. Gramsci
3. D. Harvey
4. R. Miliband
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911548
Option 11D : 37674944981
Option 2 ID : 37674944982
Option 3 ID : 37674944983
Option 4 ID : 37674944984
Status : Answered
Chosen Option : 2
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Q.102

Options 1. 1
2.2
3.3
4.4

A. O 3fTalaH
B. fear

C. 9Hfed ya™
D. T d&a

E. RARTTd d89

e fau 7t fas el § © |dt 3R &1 9u4 Sifvie:

. $dd A, C.D,E
2.$dd B.C.D.E
3.9 C. A, D. B
4. HAdA.B,C.E

TR-RORATA e fodt {5 faRivdrsii &1 uefRid &xdi 2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911592
37674945157
37674945158
37674945159
37674945160
Answered

1
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Q.103

Options 1. 1
2.2
3.3
4.4

A. HEMHRI
B. & AT
C. geU T
D. 3[ASgHR
E. HWR

i e o fomedi & § 98t SR &1 98 BifSu:

LABEC.D
2: 8B, €D E
3 A BIDEC

4.A.8B,C.E D

AT B Uafty SR 39k 51H @ 3R] & HIAHHATIR dMS:-

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911573
37674945081
37674945082
37674945083
37674945084
Answered

2
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Q.104

Match the LIST-T with LIST-II

LIST-I LIST-II
Collection and disposal
A.|Article 51 (g) I. | of garbage (New Delhi
Municipal Corporation)
Article 21 read with . i
B. Article 48 (A) II. | Pollution Free Water
c Subhash Kumar V/s 10 To protect and improve
| State of Bihar "| the natural environment
D M.C. Mehta V/S Union v Conversion of vehicles
"| of India "Ito C.N.G.

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-III, D-IV
2. A-11, B-1, C-III, D-IV
3. A-IV, B-1, C-I1, D-III

4. A-IILL B-1, C-11, D-IV

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911617
37674945257
37674945258
37674945259
37674945260
Answered

4
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Q105 o fay § wfes =91 &1 Ud Aeayrt WM §1 I3 Fafafad of e &d g

A. A & fayrat iR yraHrel B g

B. W, M 3R iemfas ooawn

C. AT o fayTat 3R yrarei 1 qafadadr
D. ¥, SIS SR R0 g

E. @igd &I urdifad
Al fag e fAsedt # @ Wt TR 1 gud IR
1. HAAA 3R C
2. HIAB 3R C
3.H9d C 3R D
4. Pad A 3R B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911601
Option 1 ID : 37674945193
Option 2 ID : 37674945194
Option 3 ID : 37674945195
Option 4 ID : 37674945196
Status : Answered
Chosen Option : 4
Q.106 P - . e S 5 e
Who argues that “Gender is something that is “done’ or ‘performed’, then, it is also
something that can be ‘undone’ when it is used by one group to exert power over another”?
1. Judith Butler
2. K. W. Crenshaw
3. Simon de Beauvoir
4. Martha Nussbaum
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911541
Option 1 ID : 37674944953
Option 2 ID : 37674944954
Option 3 ID : 37674944955
Option 4 ID : 37674944956
Status : Answered
Chosen Option : 3
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Q.107 s ; : : ; 5
Social change can not be perceived by which of the following view point?
1. Ideational
2. Value patterns
3. Cognitive structure
4. Sojurn
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911559
Option 1 ID : 37674945025
Option 2 ID : 37674945026
Option 3 ID : 37674945027
Option 4 ID : 37674945028
Status : Answered
Chosen Option : 4
Q.108 ; 3 N
Arrange the following stages in the development of human communication.
A. The Age of Signs
B. The Age of Electronics
C. The Age of Print
D. The Age of Writing
E. The Information Age
Choose the correct answer from the options given below:
LADBEBEC
2.A,.D,C,B.E
3.A.B.E.D.C
4.A.B.D.E.C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911572
Option 11D : 37674945077
Option 2 ID : 37674945078
Option 3 ID : 37674945079
Option 4 ID : 37674945080
Status : Answered
Chosen Option : 2
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Q.109
What are the features of New Social Movement theory?
A. Primacy of non class character
B. Focus on identity and autonomy
C. Focus on capturing state power
D. Focus on grassroot politics
E. Non hierarchical in character
Choose the correct answer from the options given below:
1. A, Cand D only
2.A,B,DandE only
3.B.C.D and E only
4.C,D, Aand B only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911584
Option 1 ID : 37674945125
Option 2 ID : 37674945126
Option 3 ID : 37674945127
Option 4 ID : 37674945128
Status : Answered
Chosen Option : 2
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Q.110

1A B TLE
2.A.8CED
3.B,A,C,E,D

4.B,A.C,D,E

Options 1. 1
2.2
3.3
4.4

Arrange the history of media in a chronological order:

A. First permanent cinema

B. Publication of ‘The Times" for the first time

C. First U.S.A. radio station

D. Rapid expansion of mobile phones

E. First local British Broadcasting Company in United Kingdom

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911574
37674945085
37674945086
37674945087
37674945088
Answered

3
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Q.111

Options 1. 1
2.2
3.3
4.4

What are the models of e-governance?

A. The Broadcasting Model
B. The Critical flow model
C. The lobbying model

D. The Third stage

E. The Sixth stage

Choose the correct answer from the options given below:

1. B.C,Donly
2.C,D, E only
3. A.B.Conly

4. B, D, E only

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

Question Type :
: 37674911598
1 37674945181
: 37674945182
Option 31D :
: 37674945184
: Answered

Chosen Option :

McQ

37674945183

3
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112 : : s ;
Q Arrange the following backward class movements in India in chronological order:
A. Self Respect Movement
B. Satyasodhak Samaj
C. Mahar Movement
D. Dravidian Movement
E. S.N.D. P Movement
Choose the correct answer from the options given below:
1.C,B,E,A.D
2.A,D,B,C,E
3.B,E,D,C,A
4.E,D,A,C,B
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
37674911571
37674945073
37674945074
37674945075
37674945076
Answered

4
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Q.113

1.B,E,C,D,A
2.A,C,E.B.D
3.B,D,C,A,E

4 A D.B.EC

Options 1. 1
2.2
3.3
4.4

A. Archaeology of Knowledge and Discourse on Language

B. Madness and Civilization

C. The Order of Things: An Archeology of Human Science

D. The Birth of the Clinic: An Archaeology of Medical Perception
E. Discipline and Punish: The Birth of the Prison

Choose the correct answer from the options given below:

Arrange the publication of Foucault's book in chronological order.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
37674911581
37674945113
37674945114
37674945115
37674945116
Answered

3
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Q.14 In the domain of interaction which of the following is not associated with Goftman's
formulation on interaction?
1. Actors may want to conceal secret pleasures
2. Actors may want to conceal errors that have been made in the preparation of the
performance as well as steps that have been taken to correct these errors
3. Actors may find it necessary to show only end products and to conceal the process
involved in producing of them
4. Goffinan suggests various forms of dramaturgic loyalty for fastening high in-group
loyalty
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911555
37674945009
37674945010
37674945011
37674945012
Answered

3
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Q.115

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I

LIST-II

Liberal Feminism

Freidrich Engels

Socialist and Marxist

B. o II. | Shulamith Firestone
Feminism

C.|Radical Feminism I11.| Bell Hooks

D.|Black Feminism V.| John Stuart Mill

1. A-L

B-II, C-IV, D-III

2. A-IIL B-III, C-I, D-IV

3. A-IV. B-1, C-II, D-IIT

4. A-L,

B-II, C-III, D-IV

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911610
37674945229
37674945230
37674945231
37674945232
Answered

4
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Q.116

Who is the author of the book "Society in America."?

Options 1. 1

2.2
3.3
4.4

1. Janne Addams
2. Harriet Martineau
3. Nancy Frazer

4. Tithi Bhattacharya

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911532
37674944917
37674944918
37674944919
37674944920
Answered

3
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Q.117 .
FRE ¥ U8 SHare U4l & UBRI & dlidd SIdHH &I adiedd difeig:-
A. B SR U HI&TehR H AT
B. Ul Hgl & HH | a1 ofl IRd 4 SIfcd gl
C. fadTd Ya1 & o s 3R e 3R
D. {4l Uy-a1 3[U-IHd & a1 Thd &l I Sarol
E. T &3 &1 SfawR G U famr wiftf=t s-aren
- feu U fadedl & 4 |et SR &1 99 BT
LAB/CBE
2.A,.C,B.E.D
3JAB.C.E.D
4. A.D.E.C.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911575
Option 1 ID : 37674945089
Option 2 ID : 37674945090
Option 3 ID : 37674945091
Option 4 ID : 37674945092
Status : Answered
Chosen Option : 1
Q118 Which one of the following term denoting people whose gender identify and/ or performance
corresponds with that which is assigned gender at birth or according to dominant norms of
masculinity and femininity.
1. Transgender
2. Bigender
3. Cisgender
4. Xenogender
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911544
Option 1 ID : 37674944965
Option 2 ID : 37674944966
Option 31D : 37674944967
Option 4 ID : 37674944968
Status : Answered
Chosen Option : 4
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Q.119

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Robert K. Merton I [Marxism
B.|Fred Davis II. | Ethnomethodology
C.|Don H. Zimmerman II1. | Symbolic Interactionism
D.|Karl Marx IV. | Functionalism

1. A-IIL, B-IL, C-1, D-IV
2. A-II, B-1, C-IV, D-III
3. A-I. B-III, C-IV, D-IT

4. A-IV, B-111, C-II, D-I

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911615
37674945249
37674945250
37674945251
37674945252
Answered

4
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Q.120
movement to emerge.
A, Structural Strain
B. Structural Conduciveness
C. Generaliastion beliefs and precipitating factors

D. Mobilisation for action
E. Charismatic leadership

1.E.C.B. Aonly
2.D.B.A, Conly
3.A.B.D, Conly

4.B.C.D. E only
Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Neil J. Smelser proposed six value added elements which are necessary for a social

Question Type :
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

McQ
37674911583
37674945121
37674945122
37674945123
37674945124
Answered

4
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Q.121
Merton's role theory reflects-
A. Consumerism
B. Role sets are composed of normative expectations and obligations
C. The actor internalises expectations
D. Gender roles
E. Conspicuous consumption
Choose the correct answer from the options given below:
1. A and B only
2. A and E only
3. B and C only
4. C and E only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ

: 37674911599

37674945185

: 37674945186

37674945187
37674945188
Answered

3
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Q.122

Who has propounded the concept of Runway world?

Options 1. 1

2.2
3.3
4.4

1. Arjun Appadurai
2. Anthony Giddens
3. Saskia Sassin

4. Mannuel Castells

Question Type :
: 37674911561
: 37674945033
: 37674945034
: 37674945035
: 37674945036
: Answered

12

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

McQ
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Q.123

Match the LIST-I with LIST-II

LIST-I

LIST-II

A |M. N. Srinivas

Caste and Kinship in
Central India

B.|E. K. Gough

II.

The Hindu Family in its
Urban Setting

C.|A. C. Mayer

III.

Religion and Soclety
among the Coorgs of
South India

D.JA. D. Ross

.| Economic Change

Changing Kinship in the
Setting of Political and

among the Nayars of
Malabar

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-IV, C-I, D-II
2. A-I, B-1I, C-1IV, D-III
3. A-II, B-I, C-III, D-IV

4. A-IIL B-1V, C-II. D-I

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

McQ

37674911608
37674945221
37674945222
37674945223
37674945224

1
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Q.124

Group the correct argument explaining rational choice theory of religion.

A. Tt originated from America

B. It argues that subordination of women is god's will

C. It assumes that most people are naturally religious

D. Religion encourages development from the reality of human struggle
E. It argues that there are rational reasons behind belief in religion

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. E.B, Conly
2. A, C.E only
3.B.A. Eonly

4.B.E, Conly

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

Question Type :
: 37674911591
: 37674945153
1 37674945154
: 37674945155
: 37674945156
: Answered

Chosen Option :

McQ

2
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Q.125 : cus ;
Arrange the following patterns of Urban life in chronological order.
A. The evolution of early cities
B. The rise of industrial cities
C. The explosive growth of mega cities
D. The recent rise of global cities
E. The endless city
Choose the correct answer from the options given below:
1A BCILE
2.8 CBDE
3. A,D.B.E €
4.A.B,E.D,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911577
Option 11D : 37674945097
Option 2 ID : 37674945098
Option 3 ID : 37674945099
Option 4 ID : 37674945100
Status : Answered
Chosen Option : 1
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Q.126

Match the LIST-T with LIST-II

LIST-I

LIST-II

A.|Cognates

Those who are related to
person by marriage

It indicates the side of

B.|Lineal IL the kinship group
¢ |1.ateral L It. refe_rs to the line of the
kinship group
All the people who are
D.| Affinal IV. | related by blood in any

way to an individual

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL, B-IV, C-I, D-IT
2. A-IV, B-1II, C-1I, D-1
3. A-IL B-1, C-1IV, D-III

4. A-1, B-II, C-1V, D-III

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911614
37674945245
37674945246
37674945247
37674945248
Answered

2
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Q127 J. Habermas emphasizes on three basic types of knowledge that encompass the full range of
human reason. These three basic types of knowledge are.
A. Empirical Analytic knowledge
B. Desirable knowledge
C. Hermeneutic-historical knowledge
D. Critical knowledge
E. Empirical theoretical knowledge
Choose the correct answer from the options given below:
1. A, Cand D only
2.B,Aand C only
3.B.C.D and E only
4. A, B, and D only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ
37674911595
37674945169

1 37674945170
137674945171
1 37674945172

Answered
4
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Q.128

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Structuralism I. |Erving Goffman
B.|Feminism II. | Emile Durkheim
C.|Functionalism II1. | Juliet Mitchell
D.|Symbolic Interactionism | IV. | Levi Strauss

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-1V, D-III
2. A-ILL B-IV, C-1, D-IIT
3. A-IIL B-1II, C-I, D-IV

4. A-IV, B-111, C-II, D-I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911604
37674945205
37674945206
37674945207
37674945208
Answered

4
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Q.129

Match the LIST-T with LIST-II

LIST-I LIST-II
A.|R. Karsten L Magu_:_, SriRaEEaED
Religion
B.|R. H. Lowie II. | Primitive Religion
C.|B. Mallinowski fi: [ s Treeshioldiat
Religion
D.|R. R. Marett IV.| The Origins of Religion

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IL, B-1, C-IV, D-III
2. A-IV. B-11, C-1, D-IIT
3. A-I, B-1I, C-IV, D-III

4. A-III, B-1V, C-II, D-1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911616
37674945253
37674945254
37674945255
37674945256
Answered

2
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Q.130

"Sociobiology” was first developed by whom?

Options 1. 1

2.2
3.3
4.4

1. E. O. Wilson
2. David Barash
3. Darwin

4. George Peter Murdock

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
37674911528
37674944901
37674944902
37674944903
37674944904
Answered

1
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Q.131

1L.ECBAED
2.5 D.B.AC
3.B,C,D,E,A

4. A, B. E.C. D

Options 1. 1
2.2
3.3
4.4

A. Kota village of Nilgiri Hills

B. Bisipara and Bolscopa villages in the the hills of Odisha
C. Kumbapettao village of Tanjore of Madras state

D. Senapur village of Eastern U. P.

E. Kisangarhi village of U. P.

Arrange the village studies of India in chronological order.

Choose the correct answer from the options given below:

Question Type :
: 37674911580
: 37674945109
: 37674945110
: 37674945111
: 37674945112
: Answered

Chosen Option :

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

MCQ

3
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Q.132 : . : ; %
*The God of the clan can be nothing but the clan itself” who is associated with this
statement?
1.J. G. Frazer
2. E. Durkheim
3. W. R. Smith
4. L. H. Lowie
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911538
Option 1 ID : 37674944941
Option 2 ID : 37674944942
Option 31D : 37674944943
Option 4 ID : 37674944944
Status : Answered
Chosen Option : 2
Q133 Who defined joint family as "a group of people who generally live under one roof, who eat
food cooked in one kitchen, who hold property in common. participate in common family
worship and are related to one another as some particular type of kindred"?
1. Travati karve
2. K. M. Kapadia
3. A, M. Shah
4. 1. P. Desai
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911535
Option 11D : 37674944929
Option 2 ID : 37674944930
Option 3 ID : 37674944931
Option 4 ID : 37674944932
Status : Answered
Chosen Option : 1
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Q.134

A. Very large in size some numbering several millions of people.

B. Some cities exist in which trade and manufacture are concentrate
C. Based largely on industry

D. Based largely on agriculture

E. Distinct government apparatus headed by king or emperor

Choose the correct answer from the options given below:
1. A.B.D. E only
2. A,C,D,E only
3. B,C,D,E only

4.A,B.C;D,E

Options 1. 1
2.2
3.3
4.4

Which of the following are the characteristics of traditional societies or civilization?

Question Type :
Question ID
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ

: 37674911602

37674945197
37674945198
37674945199
37674945200
Answered

1
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Q.135

Group the scholars contributed to feminist methodology

A. Margaret Mead
B. Sandra Harding
C. Carrol Gilligan
D. Heidi I. Hartmann
E. D. Harvey

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. B, C and D only
2. A, Band D only
3.E. C and A only

4. C.D. E ony

Option 1 ID
Option 2 ID

Option 4 ID
Status

Question Type :
Question ID :
: 37674945141
: 37674945142
Option 31D :
1 37674945144
: Answered
Chosen Option :

McQ
37674911588

37674945143

2
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Q.136 5 i i % i
What are the basic assumptions of civil society?
A. The civility of civil society
B. Separateness of civil society and the state
C. Intrinsic relationship between civil society and the market
D. Intrinsic relationship between civil society and primordial loyalilies
E. Intrinsic relationship between civil society and democracy
Choose the correct answer from the options given below:
1. A, B, E only
2. B, C, D only
3.C,D, E only
4.D,E.Aonly
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911586
37674945133
37674945134
37674945135
37674945136
Answered

3
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D. Y& & HId ] §-1T 1G]

E. 39 ¥ YR U AT

I e U fasedt § 9 ud) SR &1 9ud Hifve:

1. $ad A B.D.E
2. $ad A, B.C.D
3. %ddB.C.D.E
4. Hdd A, C.D.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911579
Option 11D : 37674945105
Option 2 ID : 37674945106
Option 3 ID : 37674945107
Option 4 ID : 37674945108
Status : Answered
Chosen Option : 1
Q.138 . : . : :
fafataa 7 O feud amfore 2y § Afas Rigial & aftfaa =gt fear smar g2
1. ggHfd
2 Iiﬁ dl
3. 48d
4. G
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 37674911547
Option 1 ID : 37674944977
Option 2 ID : 37674944978
Option 3 ID : 37674944979
Option 4 ID : 37674944980
Status : Answered
Chosen Option: 3
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Q.139

Match the LIST-T with LIST-II

LIST-I

LIST-II

A.|Social Institution

Group of people united
for a specific purpose or
limited number of
purposes

B.|Mob

II.

A collection of

individual interacting
with each other under
recognisable structure

C.|Social Group

I

Enduring and acceptable
forms of procedure
governing the relation
between individuals and
groups

D.| Assoclation

Unruly crowd
characterized by
instability and disorder

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-II, C-1, D-III
2. A-I, B-1I, C-1IV, D-III
3. A-IIL, B-1IV, C-II, D-I

4. A-II, B-1, C-III, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
37674911607
37674945217
37674945218
37674945219
37674945220
Answered

3
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Q.140 .
Census method research is

1. 25%

2. 50%

3.75%

4. 100%
Options 1. 1
2.2
3.3
4.4

percentage enumeration of sample.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
37674911558
37674945021
37674945022
37674945023
37674945024
Answered

4
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Comprehension:

Read the following passage and answer the questions:

Globalization is a composite process. It results from the convergence of a series of
developments in society which are qualitatively new arrival. These include: contemporary
revolution in science and technology of communication, high velocity movements of
finance, capital and market, increased social mobility, migration of personnel and the
emergence of a global diaspora. Its associated contributory processes are: intensification of
cultural interaction among diverse groups through media exposure. increased incidence of
leisure-time activities, growth in tourism. infrastructures of entertainment and marketing of
cultural products, personnel and styles. In a segmental approach, analysts have studied
‘financial or capital globalization,” ‘telecommunication or media globalization® and ‘cultural
globalization™ as separate developments, and then tried to view the impact of the one. for
instance, ‘financial or capital’ globalization upon other segments such as the ‘media’,
‘communication’ or ‘culture’. This segments such as the ‘media’. ‘communication’ or
‘culture’. The approach has two weaknesses: first, it fails to help us in comprehending the
role of the residual social structural realities and their emergent properties and the way they
interact with any one of these three aspects of globalization, be it capital, communication or
culture. Consequently, such treatment is unable to explain why some societies, communities
or groups resist globalizatiobn and reject its institutions and ideology, whereas others accept
it celebrate its arrival. The emergence of a new society inheres a basic structural
transformation of economy, polity and culture, and the potential to go beyond the systemic
features of a capitalist or a post-capitalist social order. Its unfolding may eventually
contribute to the birth of a new social order.

SubQuestion No : 141

Q.141 ; o .. 0
Which one of the following is not a consequence of globalisation process?

1. Emergence of a global diaspora
2. Ethnocentrism
3. High velocity movements of finance

4. Improved technology of communication

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911619
Option 11D : 37674945261
Option 2 ID : 37674945262
Option 3 ID : 37674945263
Option 4 ID : 37674945264
Status : Answered
Chosen Option: 2
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Comprehension:

Read the following passage and answer the questions:

Globalization is a composite process. It results from the convergence of a series of
developments in society which are qualitatively new arrival. These include: contemporary
revolution in science and technology of communication, high velocity movements of
finance, capital and market, increased social mobility, migration of personnel and the
emergence of a global diaspora. Its associated contributory processes are: intensification of
cultural interaction among diverse groups through media exposure. increased incidence of
leisure-time activities, growth in tourism. infrastructures of entertainment and marketing of
cultural products, personnel and styles. In a segmental approach, analysts have studied
‘financial or capital globalization,” ‘telecommunication or media globalization® and ‘cultural
globalization™ as separate developments, and then tried to view the impact of the one. for
instance, ‘financial or capital’ globalization upon other segments such as the ‘media’,
‘communication’ or ‘culture’. This segments such as the ‘media’. ‘communication’ or
‘culture’. The approach has two weaknesses: first, it fails to help us in comprehending the
role of the residual social structural realities and their emergent properties and the way they
interact with any one of these three aspects of globalization, be it capital, communication or
culture. Consequently, such treatment is unable to explain why some societies, communities
or groups resist globalizatiobn and reject its institutions and ideology, whereas others accept
it celebrate its arrival. The emergence of a new society inheres a basic structural
transformation of economy, polity and culture, and the potential to go beyond the systemic
features of a capitalist or a post-capitalist social order. Its unfolding may eventually
contribute to the birth of a new social order.

SubQuestion No : 142

Q.142 o ;
The emergence of a ‘new” society is based on the structural transformation of.
A. Economy and Polity
B. Culture and Economy
C. Culture and Polity
D. Economy, Polity and Culture
E. Beyond post capitalist economic order, polity and culture
Choose the correct answer from the options given below:
1. A and B only
2. A and C only
3.D and E only
4. E only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911623
37674945277
37674945278
37674945279
37674945280
Answered

4
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Comprehension:
Read the following passage and answer the questions:

Globalization is a composite process. It results from the convergence of a series of
developments in society which are qualitatively new arrival. These include: contemporary
revolution in science and technology of communication, high velocity movements of
finance, capital and market, increased social mobility, migration of personnel and the
emergence of a global diaspora. Its associated contributory processes are: intensification of
cultural interaction among diverse groups through media exposure. increased incidence of
leisure-time activities, growth in tourism. infrastructures of entertainment and marketing of
cultural products, personnel and styles. In a segmental approach, analysts have studied
‘financial or capital globalization,” ‘telecommunication or media globalization® and ‘cultural
globalization™ as separate developments, and then tried to view the impact of the one. for
instance, ‘financial or capital’ globalization upon other segments such as the ‘media’,
‘communication’ or ‘culture’. This segments such as the ‘media’. ‘communication’ or
‘culture’. The approach has two weaknesses: first, it fails to help us in comprehending the
role of the residual social structural realities and their emergent properties and the way they
interact with any one of these three aspects of globalization, be it capital, communication or
culture. Consequently, such treatment is unable to explain why some societies, communities
or groups resist globalizatiobn and reject its institutions and ideology, whereas others accept
it celebrate its arrival. The emergence of a new society inheres a basic structural
transformation of economy, polity and culture, and the potential to go beyond the systemic
features of a capitalist or a post-capitalist social order. Its unfolding may eventually
contribute to the birth of a new social order.

SubQuestion No : 143

Q.143
Segmental approach to the process of globalisation includes-
A. Cultural globalisation
B. Media globalisation
C. Capital globalisation
D. Political globalisation
E. Environmental globalisation
Choose the correct answer from the options given below:
1. A and B only
2. A, B and C only
3. Aand C only
4. C and D only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

McQ
37674911622
37674945273
37674945274
37674945275
37674945276
Answered
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l Chosen Option : 2 J

Comprehension:
Read the following passage and answer the questions:

Globalization is a composite process. It results from the convergence of a series of
developments in society which are qualitatively new arrival. These include: contemporary
revolution in science and technology of communication. high velocity movements of
finance, capital and market. increased social mobility, migration of personnel and the
emergence of a global diaspora. Its associated contributory processes are: intensification of
cultural interaction among diverse groups through media exposure. increased incidence of
leisure-time activities, growth in tourism, infrastructures of entertainment and marketing of
cultural products, personnel and styles. In a segmental approach, analysts have studied
‘financial or capital globalization,” ‘telecommunication or media globalization” and ‘cultural
globalization® as separate developments, and then tried to view the impact of the one, for
instance, ‘financial or capital’ globalization upon other segments such as the ‘media’,
‘communication’ or ‘culture’. This segments such as the ‘media’. ‘communication’ or
‘culture’. The approach has two weaknesses: first, it fails to help us in comprehending the
role of the residual social structural realities and their emergent properties and the way they
interact with any one of these three aspects of globalization, be it capital, communication or
culture. Consequently, such treatment is unable to explain why some societies, communities
or groups resist globalizatiobn and reject its institutions and ideology, whereas others accept
it celebrate its arrival. The emergence of a new society inheres a basic structural
transformation of economy, polity and culture, and the potential to go beyond the systemic
features of a capitalist or a post-capitalist social order. Its unfolding may eventually
contribute to the birth of a new social order.

SubQuestion No : 144

Q.144 which one of the following is not a consequence of the process of globalisation in India?

1. Increased incidences of leisure time activities
2. Marketing of cultural products
3. Increased social values

4. Infrastructures of entertainment
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911620
Option 11D : 37674945265
Option 2 ID : 37674945266
Option 3 1D : 37674945267
Option 4 ID : 37674945268
Status : Answered
Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions:

Globalization is a composite process. It results from the convergence of a series of
developments in society which are qualitatively new arrival. These include: contemporary
revolution in science and technology of communication, high velocity movements of
finance, capital and market, increased social mobility, migration of personnel and the
emergence of a global diaspora. Its associated contributory processes are: intensification of
cultural interaction among diverse groups through media exposure. increased incidence of
leisure-time activities, growth in tourism. infrastructures of entertainment and marketing of
cultural products, personnel and styles. In a segmental approach, analysts have studied
‘financial or capital globalization,” ‘telecommunication or media globalization® and ‘cultural
globalization™ as separate developments, and then tried to view the impact of the one. for
instance, ‘financial or capital’ globalization upon other segments such as the ‘media’,
‘communication’ or ‘culture’. This segments such as the ‘media’. ‘communication’ or
‘culture’. The approach has two weaknesses: first, it fails to help us in comprehending the
role of the residual social structural realities and their emergent properties and the way they
interact with any one of these three aspects of globalization, be it capital, communication or
culture. Consequently, such treatment is unable to explain why some societies, communities
or groups resist globalizatiobn and reject its institutions and ideology, whereas others accept
it celebrate its arrival. The emergence of a new society inheres a basic structural
transformation of economy, polity and culture, and the potential to go beyond the systemic
features of a capitalist or a post-capitalist social order. Its unfolding may eventually
contribute to the birth of a new social order.

SubQuestion No : 145
Q.145 : : g
Which one of the following not a weakness of segmental approach to globalisation?

1. Rejection of globalisation
2. Influence of capital on media and culture
3. Role of the residual structural realities

4. Historicity of globalisation

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911621
Option 11D : 37674945269
Option 2 ID : 37674945270
Option 31D : 37674945271
Option 4 ID : 37674945272
Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage carefully and answer the questions.

There are broadly two different approaches to rural planning in the Third World: the
improvement approach, which aims to encourage agricultural development within existing
peasant production system. and the transformation approach which attempts to establish new
forms of agricultural and social organization, and which makes a radical break with existing
system in terms of scale of operation production techniques, and socio-legal structure. The
improvement approach was especially characteristic of the development policies pursued by
British colonial government in Africa, India and elsewhere. Under colonial rule extension
works as often coupled with the enforcement of various administrative ordinances to prevent
soil erosion or to encourage the cultivation of certain crops. Hence, general incentives to
production were combined with principle of “persistent persuasion™ The cases of non-
observance were reported to authorities for court action. Various government encouraged the
marketing of these crops through state agencies or cooperative societies composed of
basically small farmers for selling their produce. Thus, the colonial governments were
willing to assist in developing an infrastructure concerned with distribution as well as
production.

SubQuestion No : 146

Q.146
The strategy of improvement was implemented by whom?
1. French government
2. British government
3. Spanish government
4. American government
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911629
37674945297
37674945298
37674945299
37674945300
Answered

2
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Comprehension:
Read the following passage carefully and answer the questions.

There are broadly two different approaches to rural planning in the Third World: the
improvement approach, which aims to encourage agricultural development within existing
peasant production system. and the transformation approach which attempts to establish new
forms of agricultural and social organization, and which makes a radical break with existing
system in terms of scale of operation production techniques, and socio-legal structure. The
improvement approach was especially characteristic of the development policies pursued by
British colonial government in Africa, India and elsewhere. Under colonial rule extension
works as often coupled with the enforcement of various administrative ordinances to prevent
soil erosion or to encourage the cultivation of certain crops. Hence, general incentives to
production were combined with principle of “persistent persuasion™ The cases of non-
observance were reported to authorities for court action. Various government encouraged the
marketing of these crops through state agencies or cooperative societies composed of
basically small farmers for selling their produce. Thus, the colonial governments were
willing to assist in developing an infrastructure concerned with distribution as well as
production.

SubQuestion No : 147

Q.147 . ; : : :
How was soil erosion prevented during colonial period?
1. Launching government projects by the government department
2. By voluntary organisation of the area
: f ary org
3. By enforcement of administrative orders
4. By making appeal to peasants
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911628
37674945293
37674945294
37674945295
37674945296
Answered

3
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Comprehension:

Read the following passage carefully and answer the questions.

There are broadly two different approaches to rural planning in the Third World: the
improvement approach, which aims to encourage agricultural development within existing
peasant production system. and the transformation approach which attempts to establish new
forms of agricultural and social organization, and which makes a radical break with existing
system in terms of scale of operation production techniques, and socio-legal structure. The
improvement approach was especially characteristic of the development policies pursued by
British colonial government in Africa, India and elsewhere. Under colonial rule extension
works as often coupled with the enforcement of various administrative ordinances to prevent
soil erosion or to encourage the cultivation of certain crops. Hence, general incentives to
production were combined with principle of “persistent persuasion™ The cases of non-
observance were reported to authorities for court action. Various government encouraged the
marketing of these crops through state agencies or cooperative societies composed of
basically small farmers for selling their produce. Thus, the colonial governments were
willing to assist in developing an infrastructure concerned with distribution as well as
production.

SubQuestion No : 148

Q.148 : ; : ; :
What was the aim of improvement approach in colonial period?

[a—

. To encourage the farmers to adopt non-agricultural occupations

2

. To encourage the farmers to grow only certain specific crops

b

. To encourage the farmers to grow any type of cash crops

L

. To encourage the farmers to grow indigenous crops only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911625
Option 1 ID : 37674945281
Option 2 ID : 37674945282
Option 3 ID : 37674945283
Option 4 ID : 37674945284
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage carefully and answer the questions.

There are broadly two different approaches to rural planning in the Third World: the
improvement approach, which aims to encourage agricultural development within existing
peasant production system. and the transformation approach which attempts to establish new
forms of agricultural and social organization, and which makes a radical break with existing
system in terms of scale of operation production techniques, and socio-legal structure. The
improvement approach was especially characteristic of the development policies pursued by
British colonial government in Africa, India and elsewhere. Under colonial rule extension
works as often coupled with the enforcement of various administrative ordinances to prevent
soil erosion or to encourage the cultivation of certain crops. Hence, general incentives to
production were combined with principle of “persistent persuasion™ The cases of non-
observance were reported to authorities for court action. Various government encouraged the
marketing of these crops through state agencies or cooperative societies composed of
basically small farmers for selling their produce. Thus, the colonial governments were
willing to assist in developing an infrastructure concerned with distribution as well as
production.

SubQuestion No : 149

Q.149 , _ _
The extension work during colonial rule was done through
1. Using coercive power
2. Freedom given to peasants
3. Continuous persuations
4. Radical changes in organisation of agricultural activities
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
37674911626
37674945285
37674945286
37674945287
37674945288
Answered

3
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Comprehension:

Read the following passage carefully and answer the questions.

There are broadly two different approaches to rural planning in the Third World: the
improvement approach, which aims to encourage agricultural development within existing
peasant production system. and the transformation approach which attempts to establish new
forms of agricultural and social organization, and which makes a radical break with existing
system in terms of scale of operation production techniques, and socio-legal structure. The
improvement approach was especially characteristic of the development policies pursued by
British colonial government in Africa, India and elsewhere. Under colonial rule extension
works as often coupled with the enforcement of various administrative ordinances to prevent
soil erosion or to encourage the cultivation of certain crops. Hence, general incentives to
production were combined with principle of “persistent persuasion™ The cases of non-
observance were reported to authorities for court action. Various government encouraged the
marketing of these crops through state agencies or cooperative societies composed of
basically small farmers for selling their produce. Thus, the colonial governments were
willing to assist in developing an infrastructure concerned with distribution as well as
production.

SubQuestion No : 150
Q.150 In what ways the transformation approach to development was different from improvement

approach?

1. It emphasized on the principle of persistence persuation
2. It attempts to establish new forms of agricultured and social orgainsation
3. It was interested in continuation of existing system of agriculture

4. Tt operates at a small scale in agriculture sector

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 37674911627
Option 11D : 37674945289
Option 2 ID : 37674945290
Option 3 1D : 37674945291
Option 4 ID : 37674945292
Status : Answered
Chosen Option : 2
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